
44/Disc2 solving linear

Lattime : Won-horogeneous
recurr , relations

g-zant-+(h-k +I
H

D an-General solution to
homogeneous equation

②D=

Par Nicular solutie

③ an = an + a?

Match initial contations(
How to find ani?

M : If In
polynomial of degreet

y= castant

Than



D 18 y is not a solution to

chor equation , then guess

a = (do + d ,ht ..+dent)y"
② If y is a root

of char

equation of multiplity m ,
Then

an = nW(dot-+ dan') y

Sche for do - It

Ex) : Find the form of guess

for an for recurr, relations'

(a) Tan-+3

x" =>y =⑰
a = A -T

u

-

3 =z
(



Y
poly y = 1
deque O

Guess do = do
-

#3,En
=

(b) an
:

Tan-prudener=
Less : an =(a)

= a
+b + + ch

() an = (an- + 3n25"

Fres; ai
= (a + bh+c) - 5

*

(d) an = Jane , + 3(-1)
"

Guess : an
= CatbutcritdP(l)

"

(e) an
= Tan- + 3 n3 . 7"

Less : an
= n'Catbutch + du3) ·I

*



14 any-49an-1 + 3n
"- 7

u

# Da
-

X" = 14X
*"

- 49X
n-2

X= 14X-49

x2- 14x + 49 = 0!(x-7) = 0 7
,
7&m =2
-

U

Les ! n

2

(a+ bu+ Chi+du3) . 7

(b) : Solve for a, b . <

: Tran+3r
?

P( Guess : an= atbutch? 2

b

Can+ ch =Gat
n
=2n+)

: c = + +3 D 4
= =



1
: b = 7b - 14cG

1 : a = Ta -Tb +7
F

① - 6c =3 c = - "z

②b = 1b -m
b = 7b + 7
-6b = 7 = b=7/6

③
a = \n -1) +1(z)

.

-
so an = zg-n-

El Silve



An&
X"= 1,08X" =

X = 1 . 08

Geneal solution toIt is

=A . D .08
"

Particulartion :

Jess : Ah= c = const

Ed:08c - 10000
-

,
08 = -10000

C = 100000-



#125, 000
So An= A . (1

.

08)" + 125,000

find A :

A. = 100
,
000 = A D .

00+ 125,000

100000 = A + 125 ,00

A = - 25000

An = - 25000 (1 108) + 125
,

000

Auffdate :

0 = An= - 25000(1 .08 + 12500

-1500000 = (2008)
Il



5 E (1 .08)"

n = log 1
,08
5
=

thog = 20 ,91 years

13 .

We already saaphs
Exo

a

C

A graph (undirected) is give
-

by set V of vertices ,
and

E of edoes connective
pairs of vertices

Y



EaP 5 ede

3 vertices
C

V = Saibic)

E = S(a ,d) , (a ,b) , (b ,b) , Cara , (b ,c)3

Note : edge La
,
b) is repeated-

Two edges between same verties

are called parallel.
(h

,
b) isflauf

↓

Leth : A graph with no parallel

edges and no self-lap
is a stuple graph



IM. E
If e = (vi

,
v2) is an edge

~
,vareent (neighbors
The edge e is infident to

V
, and V2

Degree of a vertex is the

number of incident edges

[degree of graph is sure
of degrees of vertices

deg(a) = 3En dea(b)=
des(c)

dea(d) = 1



Stall
Vy

ki2Y

Acrearian eph : all
vertices have degreed

Total degree 12

Leth : A graph CVH
,
EH) is

a Subgraph of J : (Vatd

if EACEO and VACUS

↓ecrem' If U = (V
,
E) is a graph

Total dearce of d



I

[dea(v) = ZIE
VEV j

Fedges

&roof : add edses to vertic

andaa time,

[dea() increases by 2

with each new edge

SpecialGraphs !

Kn = complete graph of r

vertices ; has every

possible eden between vertis

K , . Is !
K
,
and



↳

i
deau= 2 - 1

,
so

IIE) : [deC = nCh-l
so (E) =)


